
Multifunktions-Pull-up-Bar
(10000343)



Wall screw:(M4*25)Screw:(M5*10) Nut:(M6)

Screw:(M6*45)

Screw:(M6*50)

Wall anchor:(M4*30)

"L" screwdriver

Wrench

2pcs 8pcs 10pcs

4pcs 8pcs

6pcs

1pc

1pc



1035mm

415
mm

23
5m
m

Maximum load:200kg



1

M6
*5
0

M6

M6
*5
0

M6

Screw(M6*50)-2pcs Nut(M6)-2pcs



2

M6*50

M6

M6*50

M6

M6*50

M6

M6*50

M6

M5*10M5*10

Screw(M5*10)-2pcs

Screw(M6*50)-4pcs

Nut(M6)-4pcs



3

M6*45

M6

M6*45

M6

M6*45

M6

M6*45

M6

Screw(M6*45)-4pcs Nut(M6)-4pcs



4

M4*25

M4*25

M4

M4

Back of doorway

Wall anchor(M4*30)-8pcs

Wall screw(M4*25)-8pcs



Back of doorway

Front of doorway


